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Ardunt ot Yo ond f VYear 10 (ie. ot t=10)
called  Fuhue Value (FV) :
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Wﬁo“et \
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PV ok ond of Yaur 10 = 2600 &°07" (0D ’

acww/lgaff%
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(Tn 9.2, F(£)=2000- >3t ) Then Hhe income
&Lcwmw&f%r%iﬂ ﬁaw‘:ovféas
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F
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RN W ]
: 1 YT cer?
Renunder: A/fwa,a/s/a&—dd« o bince bihe - ff/ ey
o 23 €

~—> R
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ot:nferﬁsfafa,vru)flg V. fhen fhe FVafHe cncome ot £="T" Cs:
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"(PP 392399 vn ehtbeoky
M@ W Same pneome W
10/ ﬁ% WWW earns 40/ &%% wum/zy; ol Liaconce
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17 9{ He Wﬁo@) Hee cevrve will leote Lt‘l/,e)ﬁu”s,
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Tn reality, the Scbual ncome disbribubion crve
s omewbere fodueen these trwo extreaes, Fer fhe
Q1Y anconce diStibudtion o Hie US (/9 393 of beok):

\.@4“”;;&}5 ,/; < (00, L.oo) AS 201 The shaded area
e
‘ 7% ‘/&// Q/(D‘g/@)ot%g) dota M ﬁb@’u) f\ﬁﬂ%’
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\ Nz aho bte @ﬁm@#y/
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g_x__._?:_ (= Sx, 6.1.8 in fextboot ) @
The Lorentz curve V@r Ve nconie diShi$uton su ROI7 .
some Wy £s y:XQ’é, Ceo nemstx W#W

4 2030, the Loreut curve Jn thi country witl be
WW@, y»x’g w*ﬂamﬂm&g G nd
tndices amd nterpret the reonkis.

Sl 9) We cam ﬁw/‘qua&/nﬁm@ chifﬁ”.e
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= sz——xf(x f)x = 2 f (x-x )by =
i(—-——»{-g-f;)o:z[’— =) -0 = 0.44
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aWdL@M;(MMvLOW ;%W
Revenwe ot aore rafe R(t) but also has oot
nmbh%%wmce __Qosi'/\%ow* 7171446) C1Et). (IYL/SW
take of whik the {Z\D/‘t&é weaintenance wﬂo'acwmmé&ks)
Jut like RI(£) is Hhe rafe af which the total revence

.Y (bed on Ex. 5.5 6 & fontbort)
@ &&ma@ A video game s chotalled

Rate vf change n wreade . T corts
Wmimmif, e %m
ﬁboO / C/(t) $2019’0/M fo nacn /
' % Supporl Vs game . S0
wotl o 2 /,,‘L mantenance
o, t [&MMW‘A"‘ y
o { 2 3 4 oL ’—z”(a:C(JC)=2W.

WSWWQ revenwe ot o rate R(t)f] wwé

E g durng 5 USH ) s

ot 3W)£\/& ;‘;\W a %M ' @mﬂwn
ARz R (75) ot = 9900( % |
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WW‘%IEW W?LV%Z fzuée. . 3_”
(R)-c'te) = Pt) « e LT
Wrﬁ :
o The pwofit aceenuutofed fotween by £, 2¢, is:
Prb'f"'t' _ 'tz./ _ Fa Y.
Som by o t,) = [Pt -{(fe ®)-C’')dt
t1 Y
o qul’(% thoreasen (= Fr@dmf makes m,mwfd/z) whon PZt)>0)
or RIE)-C/)>0 = D) >CE).

® Pro fit decreases (= ,moataa‘ toses nbney ) when P/@L)qg)
w RI()-C(E) <0, = R(t)<cit),

o The fime t whon |[RUE) =C7(1)] is called He
Usefut Life (U.L.)of the product.

Ruestions) :
(2) What is He L{,L,,;/%egmzc'm%\s MW[Z?

Sl i i) = i) > 9000-" < 2000

-0,St
o =l =5 = ~0St=buF > y.=-2t%~301
See ex. 68 4n /_acD 2 3 meths

[£) What is the total Wﬂf nge&( %%nga
Mné cts U. Z_..? [Aesume é(l=3)

y= R(E) 0
/// v ) Gm,pfwca&;y, 7t s the area
“} U.L. 7-& Q/[t) ond yf’c/(zf) |
(lec. 2 ).




Based on Lec. 2 < 3'12)

3
("oﬁﬁmﬁ%f - pR)-PL) =[PlE)dt =
ng UL Lt/-] can set 0

=0
3 o5t Msa{zwe :ﬂerw.«la,
= }{:(% ’w')a{f; CS& %x.t/f)éa/[u 1
R e and Cx. 18 [loc. 3)

3 \
1[9000 : (-5’3)2'05{ zaoot]o

-0.5°%2 -p,5:0
- [ )-amotso] L

~ $ 7,934 ~ $8,600.

Ca)mw%w%w:ﬂy%zww%%m&
Wﬁykw%i or 4 extroc mpntth

M&%Ov( 1 W (p(ﬂ P(O)J
(W @dwew\ R” 2 C/)
for o< tey
amd comqare with F(3)~F(0)).

/1/167%94( D W@(‘/)~P(S)):
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P(H)-P()= § (%800e™ " 2000 ) At =

Eggoa e—-O.St ‘Wt] 4

]fe“td;{; =21L eaj:f' C {

when a =const

0.5 3
~ |580-2000 = -420.
Answer:  Ouner will Lose $120.




